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D�;������

1990 ����+��4 !��'����!��� '����/�(�4��������KL��3������D������P'�*��������<��X��9�)��2�4'��:;(�

��/�8������(��� 2�67������ ��������� ��'�*��I��2������'��67���)������(�� �8���������*���'�����-*�'��34�5�AB�.�8��

(��� �������2�:;(��67�<����/�*�67�3�����67'2�(���������*���'�����<���5����.�*���6,79��)�����������0����(��2�o

3�D�*��8�����D��/���/�5�KL�����I.��6,79�+(������2�����"��'���+�,��(��,P"����'��������<�3������KL��(�67<���67�

��D�6�7� �6,7�����D����/���4���67���)�����2��<���x�F.���(��<����� ��'�*��/��������'�(��H'�������<�3�8������(��<���

� ��'�*��I��2������'����� ��������*���������I.��6,79�+�)����<�����<<���2�4D����/�+����2��<��������KL�/�����

����������*����������2�U����5�AB���������� ��'��!��� '����/�2*��(����5����.�*���6,79�*�67��D�D��������KL�/�����

��������������4R��67'����� ����(��<���	.���67�/���/�5�AB���������� ��'��6,79�*�67�� ��'��+'*�4'��<��!����� ��67�����

���� ���� ��� 67����� � ��������/� ���� �D�D��� �����KL�/� ���� +���*����'�� (���KL� 67��� � 67�� 6,7� �)���� ���� 8�����

+�'�)���2�'���P�X��'��$�'��� ���/�(�KL�)����������KL� �6,79�8������������'���6�73�����3���3G��+�8�+�� 

��/�(�4��������KL��5��)��/�����6,7��� ��&'(��������2�D��"����� �5�KL��(�4��������KL������� ��������5��)��/����

�2������������<�3����3���*�����8���<��$���������'�(��%�6,79

#�� ���	&�
���	��1'(	�&�������>

JKL!����&'(���������� ��������������������KL�/������2*��(���� *��/�����*���6,7���� *��/�������4R�67������*��

X��9���������������4R��67'��+4KL-������������+�/�����+KL�/������5��O����� *���+�,� �����<�*��������������O'�

��� ���������3���Q�4����'����30 (���(��3���G��������<��������&(����� ����*��9��G�������67������'����D��[�

(������ ���� !��� � G,�5�� � .<����� �`����/� ��/� ����4 '�� � 2��*��� ��2��67� ���'��� 6�73� (��<���� ���*��9� +4KL-��� �

+2��X�����/������K�L����MN���67F�$��*�/.���8���<�3�����8��$��%���67F����*��9�25% (�������������*����'�

�2������*�� ��� '��� 6�73� +(��D�"��� 2��'��34� ������<�� ���*��9� +4KL�������� ���� +4�'���� +2��-�� ��/� +4K�L

�������� ������!"��8#����	��������9	���

��������	��1'(	#�� ���

$%�&���	'(�����)�*+���`	���'(�	���	����+�""��'(�`	����
� ����	����
�`


��T�����	������'d(	#�Y��`	� ����	���T�	�#�  �1
�/����*�� ��������� ���P'�*����� +�����4-����� ��4�X������ ���������
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(��<�������!���� ��4 .������67���)������(�� �������������KL�/������D��[��(���������

!��� � 6,7J��.�� �`���� ��/� �X�����4'��� '�� ���*��� +�,� � &'(�����'�� U���8*��+�/

dZoea) ���� ���.�� ����� ���9

(���<�'�� ������� �����KL�/� ���� +4K�L� 5��O����� *��� +�,� � ����<�3���

+�,� �G4�.�,��������O'�����$���.�39�8�6/7�8���������5�*���<��)���<���G�<��� 

����������Q����'��10 �����-���� '��2��<���G��85�� �.<������`����/���/�(��<��

X��9�8�6/7�+�67�� �����:;(����/�����������(���2��D�45������4����P�O2�KL�2�

MN������x��.����������*��9�(����������(���3���d8-8.2) +�,� �+�������*��

D���*�� �'�� � ��/� +���� 0���� ���*��9� +(��D�"���/� ����� ������<����� � ��)�

(������ ���� .����'��� ���� +���� 0���� ���*��� +�,� � 67|'��� ��/� 3��� 5��� 

75% (�����������2������*��!������*��9���8���G�����'�������KL��U���8*��+�/

������������ ��`������/�KL�<�����(��<�������*��9�8������,� ����'��(�������26

- 32°c ��/�+���� 0�������*��9

2 �����-���� '��2��<���G,�5�� �.<������`������/��Cb �����D��[��(�����

!�� ����#�����"F!
����������<������+�,� �� �����G�� �8����
���"��������":;�?�()3
��

����(����������&2��� ������*��9�(����������'��(�������2��(���3���*�X��n���

24°c 2�� 27°c +�,� � 7.8 2�� 8.2 ���� 5����� +���� 0���� ���*��9

<�2���'���34 ± 1 (���(���������/�+���� 0������� '���6�73�����4 '�� �2��'���

���*��9����<��40, 000 JKL!����/�������4!�� ������*���+�,� �� ��U��3��

�'�67�8��(�����������2������*�����*��9�� ��U����4(����"�'��� ���� G�� �2��3<�t.��

������ �(������������4(���"�������*��9

���4.������+������� �6,7��� ����/�(���<�'��)��2�4'��$��%�������"&���"���" �������

#�����"F
�������������<��������

:;�"��
���"���B������������&���"�"�����

����!���� +�,� � � �����G�� �/� ���� �$�<��*��9� 5����� ���� ��D��+�/� ��/� +!��

+!����G�����'��+�H�����*������P(<��+�,� �x�F.���5��)�	������K�L��$��%

����:;(����/����*��9�)�5��JKL!���������KL�2��X�����/�(�6�I7����'�5��&�67�/9

�����-���� '��2��<��������� ���`�����)��������-�� �'�<������t�����2������<����

��2����/�����!�� ��6�7+��67������/��X�����4'��� '�����*��9

#��'(+����

����
��<���	��1'(	
���-.��

+4KL��������+2��-��10-11 ���2����X��9���3��G�����'��+4K�L�.���<������ 

2���G�����(��<���w�����4 .����4 .������X��9�-���� �-���� ��4 .��5���<������G������

����(�67<���.�67�� �!���� ��4 .��67���.�*��9����8n��������(���������$�����(�� �+4KL�/

��/� U���8*��� +����� � m�D*�� X��9� ��3� �G�����'�� +4K�L� ���� +����� 

326.66 ± 19.58 µ +�,� � +4KL� �������� ���� +4'�� ��/�399.64 ±

10.57 µ X��9

���<��6�73�14 �G�������/���/�8 ��G�<�����$���.�*��9���!����G�������/

����90-92% +4K�L����"�����'��X��9�8���JKL!����������(��<������� �������

Y������*���.�D��<����/�'�����+�,� ������67���/������5��� ����3�.�39

�G����������'�a����<��5 5�)���+�,� �8 5�)�������5�����6�7+��X��9���3

�G�����'��U���8*������n�*��:;(�����������D������+��� ������67�/���/�5�AB'��

6�73����$��9����5��<��U���8*�����������n�*��2���`�����������������/�67��� 6�79

3��D���	#�� ���

��*���.�D��<��� (��<���� ���� �<�3� &(�*���.�� ���3� )�����2��<��� )��2�4'�

�2��%� )�,���� �

:;�"�������� &���"�"������ +�,� � � �����G�� �/� ���� ��P���Y�

��*���.��JKL!����/�����5�AB'��������<�3�+���*���)*����67F����$��9�D��:;+�'�

��/��������O<��� ��P(�����+�,� �� �����G�� �+�,� �5�������/�+�H�����*������(<��

+�,� � +4KL�� ������K�L� +���*���)*�� $��%� ���$��� �)����� $����� � JKL!���

n��5�<�����/���/��2������'��6�7+��X��9�)�����6�7+��+��o���*����O<����� <<��

+ � �����G�� � +�,� � O<����� <<���+ +��o���*��� ���(<��� ���� �$�<������ (�� 

!�����G�<��(��� ��������67F����<���X��9

�����67�(��<������/��������O<���� ��(�t����������k�������+!��2����/�������

+�8����n��������3<�.��������$�<��*��9���*���.�D��<�����/�&(�*���.�����3

+�*�� $��%�/� ���� ��*���.�� *�67�4� !��� ���39� ���<�� ��4R���67'��40,000

)���8*��+�/� ��/� 350 ���.�<���(��� ���� :;(�� ��/� �2������'�� 67������ &��� ���

150 ��������5����.�39�x�F.���+4KL��������K�L�+ +�H�����*������(<��

�����$�<��3�������� �(�� �0������������� �)���83���X����+2��X�����/�67����� 

.�39

3��D���	�&�
���,�

+4KL�/� ���� �G������� ���� 5����� )��2�� ����5 )���8*��� ����)��/� ����� (��� 

���*��� dZ1 - Z5)9� ��'*����� ����)�� +�,� � $��%� ���� �2�2�� ��� ������

���� ������/����*���.�*���6,79
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(�4��������KL������������"�"�:;������JKL!����+2��X��34������<��������

5���������+2�-���+�,� �+�67�� 

JKL!��� ����<���������5���� +�67�� w+�67�� 

+2��X�� ����+2��-� ���Y���

U���8*���Z1 4 - 5 � �����G�� �+ �������O<���� ��(�t�����

Z2 3 - 4 do + do

Z3 3 - 4 �������O<���� ��(�t������+ � �����G�� 

+ +��o���*������kP(<��Z3 5���

)������2���5�����3������2��������

�$�<�����

Z4 2 - 3 � �����G�� �+ +��o���*������kP(<�

Z5 3 - 5 � �����G�� �+ +��o���*������kP(<�

+ +4KL�� ������K�L

���.��<���(�� 6 - 8 +4KL�� ������8�� + +��o���*��

���kP(<�

<�<��%

�����lL��5��)��/�����&'(������������<�3�������������KL�/�����������������

��4R�67������ ����*���6,7��� ����/�(���<�'����� ����6,79���������������4R��67'�

�����KL�/��������<����2��<�����4'��'�������+�� ��.*�2�����67�/.��9�(���KL�2�

(��� 2�67�����/�������+�/�����&���'��(��� � 0�������67������8���������� ��

6,79�������������KL�/���������� '����)����������+4KL�/�����&'(�������2��(��<���

��� ����3����2�����*���� ��'��6,79�(��<����2��X�����/�67������<��������,X����

+�,� � ��)������ ��� 2������ X���K�L� 67�� ����*�� ��/� 5��)���'(������� ��� ���� ���

� ��'��8�����5�������2�����*���6,79

JKL!����/�����(��<����+���*���)*�'����P�X��'�*��/���/���� ��������6739

&���'�� ����*�� ���� +�67�� � &���'�� ����*�� (�� � ���*��� )������ ���\]��

������ 6,79� �G�� � !��� D��:;+�'�� ���� 67�� 5�KL�� -*����� ������ � *�67� ���*��

)������6,7��������!���67�<�'����/�)�KL�2��X���$��%������$�<�������2�����*��

��67F� 6,79

+�*��n������D�*��8*��/������������������KL���2�)���'�!�0���6,79�*�67

+�!�<�0����JKL!����+2��X�����/�!������$��*���(�KL'���6,79�8����� �������

���� &(��*�� *�X���MN� �$�<������ +�,� � �2��2�-�� ������ � ���� +!�*�� �X����

�����������*���)������6,79


